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*
This gives more

time

tostudy Topic
3Wsince test1 covers

Topics 1,2,3



Ref: LetA
and B be man

I
matrices. (So they have

the same
size.

Let

avar, B=(besttA = IA2 922 ... AI
a

Then we
define

A+ B
=

Antb
antbin or antbir

Austba. Azatben 000 den.
Aban

I " i S:
Amztbanz...

Amntban

C
amitrai-bis... arein

Iaz-bas azz-bzz...
azn-ban
:A - B = : : Amn-born

Gmi-bm, amz-boz.

If a is a scalar/number then

dan 2012 ... Win

↓A = S aa2 1922 ...
GenII " Lmn

2 am, 2Am2"



EX:
0-

= (it8)=(
IX:+-
i)+1)

since

Undefined

en notthe

2x2 3x2 same

end size

not the same size



Ex0(94) =(ie
10

I10 (4)

Fir
EX:
-

(s) - (3) =(sii) =(2)
x



#: LetA be an mar

matrix and B be an
wxn

matrix. We
define the

productofA
and B, denoted

by AB, as the man
matrix

whose entry in row
i and

column is
the dot product

ofrow is
from A and

column j from
B.

A B
-
m x r

rxn

-

↳
size of
ABmatch

men iS



#CalculateAB,

if possible,where

A =( -,0) and B =(:;o)

#
B

=(i)):?S
2x2 2x3
-
- ↳ 2x3
samer answer IS↳
Crow 1 Ale Crow1 A). Crow /A).

(col 1 Bl (col2 B) (c013 B(

(123(8) (121-(3)
(121050)

II
(c) 3B)
Ii rei!I



(1) (1) +(2)(0) (1) (2) +(21(1) (1)(- 1) +(2)(0)
I I I(11(1) +(01(0) (-1)(21 +(01(1) (- 11(1)+(0110)

=(i =2i)
--

Ex:Calculate AB
--

if possible where

A =(0 i I
and B =(23)



forwe
tried

A B - (I 01.(is) --
WW
2x2 3x2

en

IToAl I* (01B)
2#3

notpossible 4
I I itundefined

Atdefined.



Ex:Let

A =(ii) and B =(01 - 3)
-

- 1x3
3x1

Calculate AB if possible.
-
3x11x3 C↳- answeriW

Crow I A) - Crow I Al

(1). (0) (1) (K) (1)(-3)

I
! (012 Bl (013 B(

O

I4!
Crow 2 Al.Crow E

Ab I

AB = (012 B) (col 13)

(2)(1) (2)( - 3)
(2) (0)

Crow 3 A). Crow 3 Ale

Now
3 Al

(012 B)
(2013 B)

1)

(-1)(0) (-1)(1) (-1)(-3)



=(82) =AB

A=(2), B =(01 - 3)
-

as before. Can we
calculate

BA

=
10i -3(1)

W = C (0)(1) +(1)(2) +(-3))
-1)

Ix) is
answer Crow 1 B) o

(col 1 Al

=(5)



te:We saw above

thatABF BA
with

matrices.
-
-

Def:LetA be an
man

matrix.

-

The transpose
of A, denoted
-

by AT, is defined
tobe the

nxm
matrixthat

results

from interchanging
the rows

and columns
of A.

Thatis, the
i-th column of

At

is the
i-th row

ofA.

(ois-inme.*A].



-

Ex

T
=1it⑭4

⑪=(i)
turned

You could

the
countare insteadintoCthe rows of At



: The man zero matrix
-

is the man
matrixwhose

entries are all zeros.

We denoteitby Omxn

or justby 0 ifyou
don't

wantto mention the size.

#2x=188 I

Oxi =(8)
0S

⑧ 0 ⑧

IOsx3
=8o0

00 0



⑰Let A = (18)
Then,

A +02x2
=(-18) +(8)
=( -1) =A

Similarly, 02x2 +A
=A.



Def:The
-

matrix,
denentition

3
-

or justI,
is the

nxn matrix
with I's along

the main diagonal
and O's

everywhere else.

100#9)Is =(0,0)00 I

I 00
0

Iy
=01 0 0

00 1 0I 00 0 I
I


